EAGRAROBREERT — 2 N— ABISH —F 20211 H6H (k) 23EEME3A

PR C1— 45%4mL (xwlw | mEmml - |5 ) o 8
[A&4£] 1% :700,000 8 ~ 23#&:196,000 3#&:98,000H ~ 43#&:70,000™ . 53 :56,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N LIRS 5 :34. -1-1- 6| — AiEH (FER)
1 c FIRAENVEY R 1(3_4)3 %88 ’ (4_331) EHE
LNBITreI—I B:IYTR—LT> TR
= 4 i ) 4 4 | TRE 1:34.3 7-8-8-6 |38.1| — 4 42 | BMEZ (ER)
2KY3| 771~ 54.0 (7€) o |EHES
LN=V774 B:FAUTA5K milll B&E
s 3 # 6 | EBHF 1:34.4 2-2-2-2 | 38.6| — 5 407 | WEHBRE (HH)
3 10 H—Y—2J)— 54.0 (172) y | SR
RHIRT4TTX BT L— hN—AZ b MY ¢
S . 44 | JIRE— 1:34.5 4-4-5-3 | 38.5| — 6 519 | ARG (FE)
AN 4|77/ =Y 54.0 (7E) © |WLFs
RBALINT Ry IR B:R4—U—AL>Y L
S ey = s ALEE :34. ~5-6- . - KIFER (FlH)
5156|738V F1>o0 it 5 Zu 1(324)8 5-5-6-4 | 38.7 1 (4;9) A
LYy hAAYIL B:HI/I5A BH T
. . hEE+ .35, -10-10- . = NEH (EH)
el 71E-9557 A el Mgl 1 asEn
L:ZNMF2—)b B:7A1E— ANERS
- s 4 | TIRhED 1:35.3 7-7-4-5 [39.3| — 8 458 | P (EH)
7l8l11| 717 b)=F1+H 56.0 (3/8) 5 |EEEF
X LIARZ N B O-UHSF o A4S
® MARKH :35. -12-11- . — FEHE (B
8 o| koA Ty it 4 e 1(7351:;1 11-12-11-8 | 38.8 10 :_784) ;ﬁ@%
RibmEAAMO- B hkuFITLT BA BIL
5 4 6 | HEE= 1:35.6 9-9-7-11 | 39.5| — 7 438 | A (EE)
9|55 h=7tL—% 54.0 1172 o) | M) E<BIA-—FKL—va>
Z:Nd B:h=T7ULEZH ~— 75
2 HL A3 ft 4 | BEHT 1:35.8 6-6-9-10 |39.5| — 9 445 | AF=F (ER)
101719 3*/#/7\ 54.0 (1) (-4) %N
LTINFNT2 BRANINRE— IS F S
; 4 6 | HREFR 1:35.9 3-3-3-7 | 40.0| — 2 441 | HEEM— (EE)
11]8]12| Nt 54.0 ) G | B %3
RZRXHTLK B/ TEy b *3 25415
- . > 6 | WHEKEX 1:36.1 11-11-12-12| 39.5 | — 11 401 | EHES (EB)
1211|777/ 7% 77| 0 (1 1/2) wn | ) Tr-ZpEvar
R:xA1=ZTr7—R By ITrA8— e
@ 1—F—@&BIEf
13—7— 8,10,12,4,6,9,(3,11),5,7,(1,2)
23—+ — 8,10,12,4,6,9,11,3,5,7,1,2
Gal=7r= 8,10,12,11,4,6,5,3,9,7,2,1
41—+ — 8,10,4,6,11,3,12,2,7,9,5,1
[ RN
B OB 8 540M 714K 3-8 360M e & 3-6 1,740 3ER 3-8-10 4,660
% B 8 210M 8-10 1,120 | | B & 3-8 1,420/ | | 3=& 8-3-10 23,740M
3 1904 3-10 1,030 B H 8-3 3,000
10 380H

ARICOVWTRDTEEERROODE. TR LI,



